
 

 

  

1 4 

2 5 

6 3 

1. 

2. 

1. 

 
S3 

2 Nm 

2. 

3. 

S13 

20 Nm 

6xM8 Hexagon Nuts 

URBAN BOLLARD 

Installation&Maintenance Instructions 
Montaj&Bakım Kılavuzu 

2020-0/09.09.2020

A 
Mm/ Inch 

B 
Mm/ Inch 

C 
Mm/ Inch 

D 
Mm/ Inch 

E 
Mm/ Inch 

F 
Mm/ Inch 

300 30 200 75,5 15,5 116 

11 13/16 1 3/16 7 7/8 2 31/32 0 39/64 4 9/16

D 

E 

A 

A 

A 

1. 

S3 

2 Nm 

1. 

2. 

3. 

3xM5 Round Head Bolts 

C 

B 

F 

4xM5 Round Head Bolts 

1. 

3xM8 Flat Washers 

3xM5 Flat Washers 

4xM5 Flat Washers 

1.

HPR Pazarlama A.S. 

Uygurlar Cd. No:1, 06935 
& Organize Sanayi 
Bölgesi/Sincan/Ankara 
Turkey 

Tel: +90 312 267 54 3030 
Fax : +90 312 267 54 31 
info@hepergroup.com 
www.heperlighting.com 



  

 

 

 

 

 

7 

1. 

2. 

8 

1. 

9 

11 

10 

12 

13 

2. 

1. 

2. 

3xM5 Flat Washers 

S3 

2 Nm 

1 Nm 

4xM5 Round Head Bolts 

14 

15 

3. 

S2,5 

2 Nm 

1. 

3. 

2. 

1 Nm 

1. 1. 

4xM3 Socket Head Bolts 

1 Nm 

4xM3 Lock Washers 
4xM3 Hexagon Nuts 

1 Nm 

S5,5 

1. 

2. 

1. 

2. 

1. 

2. 

3. 

3xM5 Round Head Bolts 

4xM5 Flat Washers 

S3 

4xM4 Countersunk Bolts 

2 Nm  

S2,5 

2xM5 Lock Washers 
2xM5 Cross Slotted Bolts 

1,5 Nm 

1xM4 Cross Slotted Bolt 

1 Nm 

1 Nm 1 Nm 

2.



 16 

1. 

2. 

Türkçe 

MONTAJ TALİMATLARI 

Ürününün zemine montajını yapmak için; 

1. Ürünün montaj yapılacağı zemin düz olmalıdır.
2. Verilen beton ölçülerine göre zemindeki boşluk ayarlanır.
2.1. Ürünün bağlantı deliklerini hizalamak için, ankraj plakasının görseldeki gibi kullanılması

önerilir. 
Not 1: Beton kuruduktan sonra saplamaları hizalamaya yarayan ankraj plakası yerinden 
alınır. 
Not 2: Kablo kanallarının şekildeki gibi merkeze yakın olması sağlanmalıdır. 

3. Ürünün kapağının açılması için;
3.1. Kapağı tutan kilidin üstüne basılır.
3.2. Kilit dilinin yerinden kurtulduğundan emin olunduktan sonra kapak açılır.

Not: Kapağın açıldıktan sonra, gövdede dayandığı kısma zarar vermemesi için dikkat 
ediniz. 

4. Prizlerin montajlı olduğu sacın sabitlenmesine yarayan düz pullar ve bombe başlı imbus
civatalar sökülür ( 4 Adet, M5 Düz Pul, 4 Adet, M5 Bombe Başlı İmbus Cıvata ).

5. Ürünün zemine bağlantısının yapılacağı kısma ulaşmak için;
5.1. Prizlerin montajlı olduğu grup yerinden çıkarılır.

Not: Prizlerin montajlı olduğu grup yerinden çıkarılırken kabloların zarar görmemesine 
dikkat ediniz. 

5.2. Alt gizleme sacının sabitlenmesine yarayan düz pullar ve bombe başlı imbus civatalar 
sökülür ( 3 Adet, M5 Düz Pul, 3 Adet, M5 Bombe Başlı İmbus Cıvata ). 

5.3. Alt gizleme sacı yerinden alınır. 
6. Ürünün zemine bağlantısını yapmak için;
6.1. Dış hat kablolarının hazır olduğundan emin olunur.
6.2. Ürün, betondan çıkan saplamalar merkezlenerek zemine oturtulur.
6.3. Ürün zemine düz pullar ve altıköşe başlı somunlar yardımıyla 20 Nm tork ile montajlanır

( 3 Adet, M8 Düz Pul, 6 Adet, M8 Altıköşe Başlı Somun ). 
7. Alt gizleme sacının yerine montajı için;
7.1. Alt gizleme sacı yerine oturtulur.
7.2. Alt gizleme sacı düz pullar ve bombe başlı imbus civatalar yardımıyla 2 Nm tork ile yerine

montajlanır ( 3 Adet, M5 Düz Pul, 3 Adet, M5 Bombe Başlı İmbus Cıvata ). 
8. Ürünün elektrik bağlantısını yapmak için;
8.1. Elektrik hattını serilemeye yarayan buat kutusunun civataları sökülür.

Not : Serileme işlemi bittikten sonra buat kutusunun kapağı yerine yıldız silindir başlı 
civatalar yardımıyla 1 Nm tork ile montajlanır ( Civatalar, müşterinin tedarik edeceği buat 
kutusuna göre değişiklik gösterebilir, buat kutusunun özelliklerinde belirtilen tork ve 
yöntemle kapağın sabitlendiğine emin olunuz ).  

8.2. Elektrik hattını serilemeye yarayan buat kutusunun kapağı yerinden alınır. 
8.3. Buat kutusunun içinde kalacak şekilde, klemens yardımıyla elektrik hattının serileme işlemi 

yapılır. 
Not 1: Elektrik hattını serilemeye yarayan buat kutusu ürün ile birlikte gelmemektedir. Ürüne 
uygun, minimum IP67 koruma sağlayan buat kutusu tedarik ediniz ( Görselde kullanılan 
buat kutusu ebatları ( mm ) : 100x100x55 ) .  
Not 2: Elektrik hattının serilemesini sağlayan klemens ürün ile birlikte gelmemektedir. Buat 
kutusuna ve ürüne uygun kelemens tedarik ediniz. 

9. Prizlerin montajlı olduğu gurubu yerine montaj yapmak için;
9.1. Prizlerin montajlı olduğu grup yerine oturtulur.

Not: Arkada kalan kabloların zarar görmemesine ve ürünün zarar görmemesine dikkat 
ediniz. 

9.2. Prizlerin montajlı olduğu sac düz pullar ve bombe başlı imbus civatalar yardımıyla 2 Nm 
tork ile yerlerine montajlanır ( 4 Adet, M5 Düz Pul, 4 Adet, M5 Bombe Başlı İmbus Cıvata ). 

10. Ürünün kapağı kapatılır ve ürün kullanıma hazırdır.
Not: Kapağı tutan kilidin yerine oturduğundan emin olunuz.

Prizleri değiştirmek için; 

Not: Bu işleme başlamadan ürünün elektrik bağlantısını kesiniz. 

11. Prizlerin kablo bağlantısını sökmek için;
*** 4. ve 5. adımlar tekrarlanır.

11.1. Prizlerin elektrik bağlantısının yapıldığı buat kutusunun civataları sökülür. 
Not : Priz değişimi bittikten sonra buat kutusunun kapağı yerine yıldız silindir başlı civatalar 
yardımıyla 1 Nm tork ile montajlanır. 

11.2. Prizlerin elektrik bağlantısının yapıldığı buat kutusunun kapağı yerinden alınır. 
11.3. Değişecek olan prizin elektrik bağlantısı, buat kutusunun içindeki klemensten sökülür. 

Not 1: Priz değişimi bittikten sonra prizin elektrik bağlantısını yapınız. 
12. Prizi sökmek için;
12.1. Prizin sabitlenmesine yarayan imbus civatalar, tırtıllı pullar ve altıköşe başlı somunlar

sökülür   ( 4 Adet, M3 İmbus Cıvata, 4 Adet, M3 Tırtıllı Pul, 4 Adet, M3 Altıköşe Başlı 
Somun ).  
Not: Değişim bittikten sonra yeni priz yerine imbus civatalar, tırtıllı pullar ve altıköşe başlı 
somunlar yardımıyla 1 Nm tork ile montajlanır ( 4 Adet, M3 İmbus Cıvata, 4 Adet, M3 Tırtıllı 
Pul, 4 Adet, M3 Altıköşe Başlı Somun ).  

12.2. Priz yerinden alınır. 
Not: Montaj konusunda ve prizlerin kullanımı sırasında sorun yaşamamak için, ürün ile 
birlikte gelen prizle aynı özelliklere sahip priz tedarik ediniz.  

1,5 Nm 

4xM4 Cross Slotted Bolts 
4xM4 Lock Washers 

LED sürücüyü değiştirmek için; 

Not: Bu işleme başlamadan ürünün elektrik bağlantısını kesiniz. 

13. Ürünün aydınlatma grubunu sökmek için;
13.1. Aydınlatma grubunu sabitleyen havşa başlı imbus civatalar sökülür ( 4 Adet, M4 Havşa

Başlı İmbus Cıvata ). 
Not: LED sürücü değişim işlemi bittikten sonra aydınlatma grubu havşa başlı imbus 
civatalar yardımıyla yerine 2 Nm tork ile montajlanır   ( 4 Adet, M4 Havşa Başlı İmbus 
Cıvata ) . 

13.2. Aydınlatma grubu yerinden alınır. 
Not: Aydınlatma grubu yerinden alınırken kabloların zarar görmemesine dikkat ediniz. 

14. Kartuş grubunun yerinden çıkarılması için;
14.1. Kartuş grubunu gövdeye sabitleyen tırtıllı pullar ve yıldız silindir başlı civatalar sökülür ( 2

Adet, M5 Tırtıllı Pul, 2 Adet, M5 Yıldız Silindir Başlı Cıvata ) . 
Not: LED sürücü değişim işlemi bittikten sonra kartuş grubu tırtıllı pullar ve yıldız silindir 
başlı civatalar yardımıyla yerine 1,5 Nm tork ile montajlanır ( 2 Adet, M5 Tırtıllı Pul, 2 Adet, 
M5 Yıldız Silindir Başlı Cıvata ) . 

14.2. Kartuş grubu yerinden alınır. 
Not: Kartuş grubu yerinden alınırken kabloların zarar görmemesine dikkat ediniz. 

15. LED sürücüyü kablo bağlantılarından ayırmak için;
15.1. Dış hat kablosu ile LED sürücüsünden gelen kabloyu bağlayan soket birbirinden ayrılır.

Not: LED sürücü değişim işlemi bittikten sonra soketler tekrardan birleştirilir. 
15.2. LED aydınlatma grubundan gelen kablo ile LED sürücüsünden gelen kabloyu bağlayan 

soket birbirinden ayrılır. 
Not: LED sürücü değişim işlemi bittikten sonra soketler tekrardan birleştirilir. 

15.3. Dış hat kablosundan çıkan topraklama kablosunu sabitleyen yıldız silindir başlı cıvata 
sökülür ( 1 Adet, M4 Yıldız Silindir Başlı Cıvata ). 
Not: LED sürücü değişim işlemi bittikten sonra topraklama kablosu yıldız silindir başlı cıvata 
yardımıyla yerine 1 Nm tork ile montajlanır ( 1 Adet, M4 Yıldız Silindir Başlı Cıvata ) . 

16. LED sürücüyü yerinden almak için;
16.1. LED sürçünün kartuş sacına sabitlenmesini sağlayan tırtıllı pulla ve yıldız silindir başlı

civatalar sökülür ( 2 Adet, M4 Tırtıllı Pul, 2 Adet, M4 Yıldız Silindir Başlı Cıvata ). 
Not: Yeni LED sürücü, kartuş sacına tırtıllı pullar ve yıldız silindir başlı civatalar yardımıyla 
1,5 Nm tork ile montajlanır ( 2 Adet, M4 Tırtıllı Pul, 2 Adet, M4 Yıldız Silindir Başlı Cıvata ) . 

16.2. LED sürücü yerinden alınır. 

KURULUM VE BAKIM İÇİN UYARILAR 
Güvenlik Uyarıları

• Bu armatürdeki ışık kaynağı sadece üretici, üreticinin yetkili servisi ya da kalifiye bir
teknisyen tarafından değiştirilebilir.

• Kurulum, bakım ve tamir işlemleri sırasında her zaman güç kapatılmalıdır.
• Eğer kurulumdan sonra başka biri tarafından değişim ya da tamir işlemleri yapılırsa bu

üreticiden ziyade bu işlemleri yapan kişi sorumluluğu altındadır.
• Sakatlanma, elektrik çarpması, yangın kazası, düşebilecek parçalardan oluşacak kazalarda

ölüm riski ni azaltmak için kurulumdan önce bu kılavuza riayet edilmelidir.

Kurulum
• LED ürünleri yüksek kalite elektronik parçalardır. Lütfen kurulum sırasında dikkatli ve yavaş

bir şekilde işlemleri tamamlayın.

Önemli
•

•

Güvenli kurulum için önce armatür içindeki haznenin düzgün yerleştirildiğinden emin olun.
Temizlik ve Bakım
Armatürü düzenli olarak solventsiz malzemeler ile temizleyin. Temizleme sırasında yüksek
basınçlı sıvılarla işlem yapmamaya özen gösterin.
LED Modüllerin Değiştirilmesi

• LED modül gösterimi armatürün etiketinde not olarak düşülmüştür.
• Işık rengi ve ışık çıkışı HEPER modüllerine aittir. Başka bir modül kullanıldığında

istenilen değerler elde edilemeyebilir. Değişim standart ekipmanlarla yapılabilir.



English

ASSEMBLY INSTRUCTIONS

To install the product on the floor; 
1. The floor on which the product will be installed must be flat.
2. The space on the floor is adjusted according to the given concrete dimensions.
2.1. It is recommended to use the anchor plate as shown in the image to align the connection holes of
the product.

Note 1: After the concrete has dried, the anchor plate used to align the studs is removed. 
Note 2: It should be ensured that the cable ducts are close to the center as in the figure. 

3. To open the product's cover;
3.1. It is pressed on the lock that holds the cover.
3.2. The cover is opened after making sure that the lock tongue is dislodged.

Note: After the cover is opened, be careful not to damage the part it rests on the body. 
4. Flat washers and camber head imbus bolts for fixing the sheet metal to which the sockets are
mounted are removed (4 pieces, M5 Flat Washers, 4 pieces, M5 Round Head Imbus Bolts).
5. To reach the part where the product will be connected to the floor;

5.1.The group in which the sockets are mounted is removed. 
Note: Be careful not to damage the cables while removing the group in which the sockets are 
mounted. 
5.2. Flat washers and camber head imbus bolts for fixing the bottom cover plate are removed (3 
pieces, M5 Flat Washers, 3 pieces, M5 Round Head Imbus Bolts). 
5.3. The bottom cover plate is removed. 
6. To connect the product to the floor;
6.1. It is ensured that the line cables are ready.
6.2. The product is placed on the floor by centering the studs coming out of the concrete.
6.3. The product is mounted to the floor with a torque of 20 Nm with the help of flat washers and
hexagonal nuts (3 pieces, M8 Flat Washers, 6 pieces, M8 Hexagon Head Nuts).
7. For the mounting of the bottom cover plate;
7.1. Bottom cover plate is placed in place.
7.2. The bottom cover plate is mounted in place with 2 Nm torque with the help of flat washers and
round head imbus bolts (3 pieces, M5 Flat Washers, 3 pieces, M5 Round Head Imbus Bolts).
8. To make the electrical connection of the product;
8.1.The bolts of the junction box, which is used for laying the electrical line, are removed.

Note: After the grading process is completed, the cover of the junction box is assembled 
with 1 Nm torque with the help of star cylinder head bolts (Bolts may vary according to the junction box 
to be supplied by the customer, make sure that the cover is fixed with the torque and method specified 
in the features of the junction box). 
8.2. The cover of the junction box, which is used to lay the electrical line, is removed. 
8.3. The grading process of the electrical line is done with the help of the terminal so that it remains in 
the junction box. 

Note 1: The junction box for laying the electrical line is not included with the product. Supply 
a junction box suitable for the product, providing minimum IP67 protection (Dimensions of the junction 
box used in the image (mm): 100x100x55). 

Note 2: The terminal that enables the laying of the electric line is not supplied with the 
product. Supply the junction box and terminal suitable for the product. 
9. To install the sockets instead of the assembled group;
9.1. The group in which the sockets are mounted is placed in place.Note: Make sure that the cables
remaining behind are not damaged and the product is not damaged.
9.2. It is mounted to their places with a torque of 2 Nm with the help of sheet flat washers and camber
head imbus bolts to which the sockets are mounted (4 pieces, M5 Flat Washers, 4 pieces, M5 Round
Head Imbus Bolts).
10. The product cover is closed and the product is ready to use. Note: Make sure that the lock holding
the cover is in place. To change the sockets;

Note: Before starting this process, disconnect the product from electricity. 
11. To remove the cable connection of the sockets;
*** Steps 4 and 5 are repeated.
11.1. The bolts of the junction box where the electrical connection of the sockets are made are
removed.

Note: After the socket change is completed, instead of the cover of the junction box, it is 
mounted with 1 Nm torque with the help of star cylinder head bolts. 
11.2. The cover of the junction box where the electrical connection of the sockets is made, is removed. 
11.3. The electrical connection of the socket to be changed is disconnected from the connector inside 
the junction box.

Note 1: After the socket change is finished, connect the socket to the electricity. 
12. To remove the socket;
12.1. Imbus bolts, knurled washers and hexagon head nuts for fixing the socket are removed (4
pieces, M3 Imbus Bolt, 4 pieces, M3 Knurled Washers, 4 pieces, M3 Hexagonal Head Nuts).

Note: After the replacement is completed, the new socket is mounted with 1 Nm torque with 
the help of imbus bolts, knurled washers and hexagonal nuts (4 pieces, M3 Imbus Bolts, 4 pieces, M3 
Serrated Washers, 4 pieces, M3 Hex Head Nuts). 
12.2. The socket is removed. Note: In order to avoid any problems regarding assembly and use of the 
sockets, supply a socket with the same features as the socket provided with the product.
To replace the LED driver; Note: Before starting this process, disconnect the product from electricity. 
13. To remove the lighting group of the product;
13.1. The countersunk head imbus bolts fixing the lighting group are removed (4 pieces, M4
Countersunk Imbus Bolts).

Note: After the LED driver replacement process is completed, the lighting group is mounted 
with 2 Nm torque with the help of countersunk bolts (4 pieces, M4 Countersunk Head Imbus Bolts).

13.2. The lighting group is removed. 
Note: Be careful not to damage the cables while removing the lighting group. 

14. To remove the cartridge group;
14.1. The knurled washers and star cylinder head bolts that fix the cartridge group to the body are 
removed (2 pieces, M5 Knurled Washers, 2 pieces, M5 Star Cylinder Head Bolt).

Note: After the LED driver replacement process is completed, the cartridge group is 
mounted with 1.5 Nm torque with the help of knurled washers and star cylinder head bolts (2 pieces, 
M5 Knurled Washers, 2 pieces, M5 Star Cylinder Head Bolt). 
14.2. The cartridge group is removed. Note: Be careful not to damage the cables while removing the 
cartridge group. 

15. To separate the LED driver from the cable connections; 
15.1. The outer line cable and the socket connecting the cable coming from the LED driver are 
separated from each other. Note: After the LED driver replacement process is finished, the sockets 
are reassembled.
15.2. The cable coming from the LED lighting group and the socket connecting the cable coming 
from the LED driver are separated from each other. 

Note: After the LED driver replacement process is finished, the sockets are reassembled. 
15.3. The star cylinder head bolt fixing the grounding cable coming out of the outer line cable is 
removed (1 piece, M4 Star Cylinder Head Bolt). 

Note: After the LED driver replacement process is completed, the grounding cable is 
mounted with a torque of 1 Nm with the help of a star cylinder head bolt (1 Piece M4 Star Cylinder 
Head Bolt). 
16.LED to remove the driver;
16.1. The knurled washer and star cylinder head bolts that fix the LED slider to the cartridge sheet 
are removed (2 pieces, M4 Knurled Washers, 2 pieces, M4 Star Cylinder Head Bolts).

Note: The new LED driver is mounted on the cartridge sheet with the help of knurled 
washers and star cylinder head bolts with a torque of 1.5 Nm (2 pieces, M4 Knurled Washers, 2 
pieces, M4 Star Cylinder Head Bolt). 
16.2.LED drive is removed.

WARNINGS AND REMARKS FOR 
INSTALLATION AND MAINTENANCE 

Safety Instructions

• The light source contained in this luminaire shall only be replaced by the manufacturer or his
service agent or a similar qualified person. Always switch off the power prior to installation,
maintenance or repair activities.

• The manufacturer is then discharged from liability when damage is caused by improper use or
installation.

•

•

If any luminaire is subsequently modified, the persons responsible for the modification shall be
considered as manufacturer.
To reduce the risk of death, personal injury or property damage from fire, electric shock, falling
parts, cuts, abrasions and other hazards, please read all warnings and instructions included
with the luminaire, on the luminaire’s packaging and affixed to the luminaire itself..

Installatio n
•

•

LEDs are high-quality electronic components! Please avoid contacting the light output opening
of the LED directly during installation or relamping.
IMPORTANT
To ensure secure connection, the luminaire housing must be positioned precisely in relation to
the mounting plate.
Cleaning And Maintenance

• Clean luminaire regularly with solvent-free cleaners from dirt. Please do not do not clean the
luminaire with using high-pressure liquids.


	Boş Sayfa



